


















Alleles and Inheritance
An Allele is an alternative form of a gene (one member of a pair) that 
is located at a specific position on a specific chromosome.

Alleles are dominant or recessive

Homozygous = two same alleles (purebred)

Heterozygous = two different alleles

एलेल्स और इनहेररटेंस
एलेल जीन का एक वकैल्ल्िक रूि है (एक जोडी का एक सदस्य) जो 
एक ववशिष्ट गुणसूत्र िर एक ववशिष्ट ल्स्िति में ल्स्िि है 

एलेल्स प्रमुख या िनुराविी हैं

Homozygous = दो समान युग्मक (िुद्ध)

हेटेरोजीस = दो अलग-अलग एलील



Nucleic acids are made of
1. Nucleotides
2. Nucleosides
3. Amino acids
4. Protein

न्यूल्ललक एशसड से बने होिे हैं ?
1. न्यूल्ललयोटाइड्स
2. न्यूल्ललयोसाइड्स
3. अमीनो एशसड
4. प्रोटीन

Correct Option: A



Gene located at the same locus but having different expression are
1. Multiple alleles
2. Oncogenes
3. Polygenes
4. Codominants

जीन एक ही लोकस िर ल्स्िि है लेककन अलग अशिव्यल्लि होने कर 
रहे है
1. कई एलील्स
2. ओन्कोजीन
3. िॉलीजीन
4. कोडोशमनेंट्स

Correct Option: A





Experimental evidence to show that the genetic code is a triplet 
code was provided by
1. George Gamow
2. Watson & Crick
3. Nirenberg and Mathaei
4. None of these

प्रायोगगक सबूि ददखाने के शलए कक आनुवंशिक कोड एक दििल 
कोड है द्वारा प्रदान की गई िी
1. जॉजज गमो
2. वाटसन और किक
3. तनरेनबगज और मैिाई
4. इनमें से कोई नहीं

Correct Option: C



Daughter born to haemophiliac father and normal mother could be
1. Normal
2. Carrier
3. Haemophiliac
4. All of these

हीमोफीशलया वििा और सामान्य मां से िैदा हुई बेटी हो सकिी है
1. सामान्य 
2. रोग संवाहक
3. हीमोफीशलयाइन
4. सिी
Correct Option: B





Monohybrid ratio of Mendal's cross is / मेंडल के िॉस का मोनोहाइब्रिड अनुिाि है
1. 9 : 3 : 3 : 1
2. 3 : 1
3. 1: 1
4. 2 : 1

Correct Option: B



Mendel's law apply only when

1. Characters are linked
2. Parents are pure breeding
3. F1 monohybrid ratio shows two type of individuals
4. First pair of contrasting characters is dependent upon other pairs

मेंडेल का कानून ििी लागू होिा है 
1. जब वणज जुडे हुए हैं
2. मािा-वििा िुद्ध िीइंग हैंF
3. मोनोहाइब्रिड अनुिाि दो प्रकार के व्यल्लियों को ददखािा है
4. ववषम िात्रों की िहली जोडी अन्य जोडों िर तनिजर है

Correct Option: B



Nucleic acid occur in

1. Viruses
2. Bacteria
3. Mammal
4. All form life

न्यूल्ललक एशसड में होिे हैं
1. वायरस
2. बैलटीररया
3. स् िनिायी प्राणी
4. सिी फामज का जीवन

Correct Option: D





Mendel's law were rediscovered by
1. Correns
2. Tshermak
3. Devaries
4. All of these

मेंडेल के कानून को कफर से खोजा गया
1. कोरेन्स
2. िेजमजक
3. देवरी
4. सिी

Correct Option: D



Nucleosome contains

1. Only histones
2. Both DNA and histones
3. Only DNA
4. Both DNA and RNA

न्यूल्ललयोसोम में होिा है
1. केवल दहस्टन
2. डीएनए और हस्टन दोनों
3. केवल डीएनए
4. डीएनए और आरएनए दोनों

Correct Option: B



➢ The structure of a nucleosome consists of a segment of DNA 
wound around eight histone proteins and resembles thread 
wrapped around a spool. 

➢ The nucleosome is the fundamental subunit of chromatin fibre
➢ Each histone octamer is composed of two copies each of the 

histone proteins H2A, H2B, H3, and H4.



In humans, height shows a lot of variation. It is an example of
1. Multiple allles
2. Pleiotropic inheritance
3. Polygenic Inheritance
4. Pseudoalleles

मनुष्यों में, ऊंचाई बहुि शिन्निा ददखािी है  यह एक उदाहरण है
1. कई एलील्स
2. ल्ललयोिॉविक ववरासि
3. िॉलीजेतनक ववरासि
4. छद्म एलील्स

Correct Option: C







The process of transfer of genetic information from DNA to RNA of formation of 
RNA from DNA is
1. Transversion
2. Transcription
3. Translatoin
4. Translocation

डीएनए से आरएनए के गठन के आरएनए के शलए आनुवांशिक जानकारी के
हस्िांिरण की प्रकिया 
1. िांसवसज 
2. िांसकिलिन 
3. िांसलेिन 
4. िांस लोकेिन 

Correct Option: B



The process of transfer of genetic information from DNA to RNA of formation of 
RNA from DNA is
1. Transversion
2. Transcription
3. Translatoin
4. Translocation

डीएनए से आरएनए के गठन के आरएनए के शलए आनुवांशिक जानकारी के
हस्िांिरण की प्रकिया 
1. िांसवसज 
2. िांसकिलिन 
3. िांसलेिन 
4. िांस लोकेिन 

Correct Option: B



Gene are made up of
1. DNA
2. RNA
3. DNA & RNA
4. Protein

जीन से बने हैं
1. डीएनए
2. आरएनए 
3. डीएनए और आरएनए
4. प्रोटीन

Correct Option: A



Number of chromosome in a normal human body cell is / एक सामान्य मानव िरीर 
कोशिका में गुणसूत्र की संख्या होिी है
1. 43
2. 44
3. 45
4. 46

Correct Option: D



Find out the mismatched
1. Klinefelter's syndrome - XO
2. Haemophilia - Sex linked
3. Down's syndrome - Autosomal aneuploidy
4. Turner's syndrome - female with retarted sexual development.

बेमेल का ििा लगाएं
1. ललाइनफेल्टर शसडं्रोम - एलसओ
2. हीमोकफशलया - सेलस जुडा हुआ
3. डाउन शसडं्रोम - ऑटोसोमल एन्युललोइड
4. टनजर शसडं्रोम - मदहला कम यौन ववकास के साि है 

Correct Option: A



Assertion (A) : Insect resistance transgenic cotton has been produced by inserting Bt gene.
Reason (R) : The Bt gene is derived from a bacterium.
Code
1. Both A and R are true and R is the Correct explanation of A.
2. Both A and R are true but R is not the correct explanation of A.
3. A is true but R is false.
4. A is false but R is true.

अशिकिन (ए): बीटी जीन डालकर कीट प्रतिरोध िांसजेतनक किास का उत्िादन ककया गया है 
कारण (R): बीटी जीन एक जीवाणु से प्रालि होिा है 
कोड
1. A और R दोनों सत्य हैं और R, A की सही व्याख्या है 
2. A और R दोनों सत्य हैं लेककन R, A की सही व्याख्या नहीं है 
3. A सत्य है लेककन R असत्य है 
4. A गलि है लेककन R सत्य है 

Correct Option: B






